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SOCIOLOGY
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HSE 2
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General Inslructions to Candidates :

' unswers.

: ,heet itself.

. Electronic devices except non progmmmable calculators are not allowed in the Examination Hall.
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2.

1.

Answer all questions. Each question

carries One Score

Which among the follorving is not a
dimension of untouchability?

a. Exclusion

b. Humiliation

c. Exploitation

d. Inclusion
Who started first school for girls in Pune

to promote female education?

a. Pomdita Ramabai

b. Mdya sagar

c. .lotibaphule

d. Viresalingam

3. Whicla anong the following is not eorrect
regarding literacy in India?

a. The inequalities in the literacy rate tend
to reproduce inequality across

generation.
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b. Scileduled castes and scheduled llrihres
have iower rate of literac5,.than oihers.

c. Literacy. levels did not inrprove after
inclependance.

cl. Litcrac5, rate of *.omen is less than the
literac,r, rate of rnen.

\\'hiclr among tl-re f'ollorvitrg city ,Jeclined
due to deindustrialisation during British
rule?

a. BomhaS,

b. N,fadras

c. Masulipatnam

d Calcutta

Which arilllng the firllora,ing category of.
languaee js not spoken b-_v 

'fribes in irrdia?
a. .z{ustric

b. Tai - Kadai

c. Tibeto-Burinan

d. Indo - Arrvan
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\nsryer all quesfions, Each question carries
2 ScorcsI. Define "seli-reflexivitl,"

li. Explain flre coacept ,D<iminanl 
caste,

\'. Why did British estabtrished cities in
coastal areas?
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10.

11.

a" h'd o tu tYu

Define Status symbol. 10'

(r)

What is meant by Secularisation of caste? n.

o

Amsrr'er any: three questions. Each question

carries 3 Scores

1.1. Diffbrentiate a social map from a

geographicai maP.

I --l. t,ist comtnonlY cited features of
caste s,vstem

14. Explain de-industrialisation in India during

:he British rule.

i 5. a" Define the concePt

'o. Sanskritisation

c. \\'iro contributed this concept to

sociologl' Score t

Answer any three questions. Each question

ee;"r!es 4 Scores

ii. :\tio1\ se tnarket as a social instifirtiorr

',f . a. Explain social inequality and social

stritification Score 3

b. Write any tr,vo principles of sociai

stratification Score 1

I8. tsriefl.v exp'iain Theories of
social ntovements

i9. Explain chipko movement as a ecological

movement

,dnswer any three questions. Each question

carries 5 Scores

20. " The disabled are rendered disabled,

because they are biologically disabled

because societY renders them so"

'd-. r\nal1'se the above statement and find the

relation between disability and society-'

Score 3
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b. Explain social construction of disabiiity?

Score 2

2l . Analyse how the Panchayatiraj institutions
include marginalised and weaker sectior-ls

in its structure and f.unction.

22. " The Green revolution ancl rnarket orienterj
cultivation increased inequalities in ruu"ai

society" Evaluate the statement.

23. Explain the role of print media in the
groMl'r of indian natic'nalism
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Answqr any three questions. Eaeh question
carries I marks

24.

a. Explain nnd relate age structure of
population with the dependency ratio
and demographic dividend

Score 4

b. Analyse the changing age structure of
Indian population

Score 2

e. Does itoffer a a better demographic
dividend

25.a. Define 'Civil Society' Score 2

b. Explain the role cf civil society in
a nation state. Sccte 3

c. Evaluate the role of civil soc;ety
organisation in the conte;ricorarv inclia?

br.r-,:,: 3

25. Evaluate the changes in Indian Industrl,
due to Globalisation and Liberaliszrtion

27. Explain the irnpact of Globalisation on
Indian culture
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